@ Co-orddinate Cxeomwj

_.1. The points A, B, C have coordinates (2, 0), (1, 5) and (-3, 1), respectively. The mid-point of BC
is D. ' .

(a) Show that the equation of AD is
3y fax ia =0 5|
(b) The line L passes through B and 1s ﬁéﬁiémd"iculéf to AB. Find the equation of L. Bl F
B (c) Theline L intersects AD at the point E. Show that E has coordinates (~4, 4). 21
— .( d) Find the area of triangle ABE. R _ : 3] F
1. The points A, B and C have coordinates (6, 6), (3, 5), (7, 3), respectively, The mid-point of BC is |
' D. The line through B parallel to AC meets AD at E.
| zJ B (a) Show that the equation of AD is : 3
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S and find the equation of BE. [8] L
=
e (b) Show that E has coordinates (4, 2). [2]
BRI
(c) Show that BE and EC are perpendicular. [2]
e e (d) Find the area of triangle BEC. : [31 }T_‘
e _ __._i1. The points A and B have coordinates (-2, 2) and (6, 18), respectively. Thé mid-poiﬁé of AB is C. |—
: The line through C perpendicular to AB intersects the x-axis at the point D. L
—_——A— _ .
RS B (a) Find the gradient of AB. : . | 2] =
—~”—‘QJ{““ (b) Show that C has coordinates (2, 10) and hence find the equation of CD. 417
: - ] -
~~~~ —__é (c) Given that the point E has coordinates (10, 11), show that” -
& (@) ECis parallel to AD, L
o () EC= % AD. L ml

e i e B L1IE pOMES A, B, €, D have coorflingtas (2,0), (5, 1), (7, 10), =8, 5) respectively. ir_
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\j ~ (a) Show that the lines AC and BD are perpendicular. [4]
P _€3__. (b) Show that the line AC has equation r
R E(AI ..... Zx__y i O, . ﬁ
® = e é i . . i
oo o g and find the equation of the line:BD. ' ‘ [4]

(c) Find the coordinates of E, the.point of intersection of the lines AC and BD. [2]
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- (d) Show that AC = 5AE. [3]¢
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